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B.Com. (First Year) Examination, 2017

BANKING AND BUSINESS ECONOMICS
(Economic Environment in India)

Time : Three Hours
Maximum Marks : 100

PART-A [Marks : 20]
(Tvs-37)
Answer all questions (50 words each).
All questions carry equal marks.

Tt wvw e € v T W I 50 W @
afus T o st v B o wEm
PART-B [Marks : 50]
‘ (@ves-9) )
Answer five questions (250 words each). Select one question
from each unit. All questions carry equal marks.

THF THE ¥ UH-U& T T g, HA Ui T wf)
TF W H OIW 250 TR ¥ ot T B
Tt TN ® 3F TuA B
PART-C [Marks : 30]
(E7e-%) o
Answer any two questions (300 words each).

All questions carry equal marks.
FE I T FIVY F&F T F IW 300 I A

v 7 B Tt WA B o Tm &)
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PART-A
(@ue-37)

UNIT-1
(-1
1. ()  What do you mean by Economic Environment ?
oiffs TR @ oMY w WHEd g 2
(i) Explain the Concept Poverty.
TE HT STEMEOT GHEART
UNIT-II
(gFTS-1D)

(iiiy When did Planning begin in India and how many
five year plans have been completed ?

wra H FreeE w9 TR el q oW 9 R
Yo AeEe O @ g § 2

(ivy Explain any four important factors of new
agricultural strategy.

FH H TR FE T F OBE VR TG TS
e HIfe '
UNIT-III
- (=E-ID
(v) What is mean by Industrial Policy ?
dreifrr At ¥ wn s ® 2
(vi)  State the main problems of Small Scale Industries.

Y ST F W@ G Soes
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UNIT-1V

(FFE-1V)

(vii) What is import substitution ?
o Wi @ € 2
(viii) What is Foreign direct investment ?

vga Rt few = € 2

UNIT-V

(FFE-V)
(ix) What are the natural Constraints in the Agricultural

Development of Rajasthan ?
TRIR F FH T w1 ks o T ¥ 2
(x) - Discuss the meaning of Liberalisation.

SEAF w1 et umETEE

PART-B
(TEue-q)

UNIT-I

(FETE-1)

2. Discuss briefly factors affecting economic environment.

afthr waferer & Ui FR O YR H GEY H
AT
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OR (37eraM)
Examine the Present population policy of Government
of India.

IRA THR 1 TAqH SHEET AT T gHier i)

UNIT-II

(FFTE-1D)
Discuss the main objectives of economic planning.
affF fraem & vgE R w1 oo wifw

OR (371an)
Discuss briefly impact of World Trade Organisation on
Indian Agriculture. |
fve =R e W ORdE By | o weE e €,
S Rk e |

UNIT-III

(FTE-110)

Critically discuss the role of Multi-National Corporations

in Economic Development of India.
IRA & Miw faww ¥ gy e # afremr @t
AR AT e
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10.

11.

OR (7@ o
Write a note on "Challenges of Globalisation and Small
Scale Industries".

éﬂmﬁﬁﬁﬁwaﬁm"mwﬁmﬁ
fafem)

UNIT-1V

(FFE-1V)

Explain the composition of India Foreign Trade.

e ® FRYt =R W wEm W e i
OR (3fer@m)

Discuss the present Export-Import Policy of India.

T W adgm Prefa-omme AR wt faem s

UNIT-V
(FFE-V)
Explain the place of Rajasthan in the Indian Economy.
R ared-sreen § TeRe W ferf e wif
| OR (7@
Discuss the impact of Liberalisation on Industrial
Development of India.

wﬂwww%aﬁ@ﬁmmwgmﬁ
fae= =S
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12.

13.

14.

PART-C
(@vs-9)
UNIT-1
(FFTE-T)

Discuss the causes of unemployment in India. What efforts

made by the government to remove this problem ?  (7+8)
qRE W T F OFPRON F AUE H W OGHEN B
A @ f §@R 4 wR-ER ¥ WS fEg ¥ 2

UNIT-1I

(FFE-11)
What are the main achievements of Planning in India ?
Light on the failures of Planning in India. (8+7)
aRg § FrEiem # TE STateE w2 frane &6

fawemtesi w & yEm eifanl

UNIT-11I

(FTE-11D)
How the present Industrial Policy of India is different from

Preceeding Policies ? Discuss its major Proposal. (5+10)

RG H wdHE e wify qdadt Afe 9 R T
fim ¥ ? = wgE wEYE # faaem wi
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15.

16.

UNIT-1V

(FFE-1IV)

What are the causes of adverse balance of payment in
India ? What efforts have been made by the Government
of India to solve this problem ? Explain. ; 8+7)
aRE ¥ YR Se % Wkee BH % W wRw ¥ 2
W T @ P U 9Ra TER 7 F-F ST fE
g 2 W

UNIT-V

T EER-V)

'Explain the role of Tourism in the Economy of Rajasthan.

oo @ ofeEe ¥ Wew ® yfHEw wOauN
B
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